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2014 81.8 86.3 Yes Yes
2014 91.8 98.2 Yes Yes
2014 80.6 90.9 Yes
2014 85.1 83.6 Yes Yes
2014 93.9 97.0 Yes Yes Yes
2014 96.3 100.0 Yes Yes
2014 93.1 87.0 Yes Yes
2014 93.9 92.7 Yes Yes
2014 99.6 98.9 Yes Yes
2014 85.5 88.7 Yes Yes Yes
2014 88.2 Yes Yes
2014 93.6 g85.3 Yes Yes Yes
2014 93.4 58.3 Yes Yes
2014 939 95.9 Yes Yes
2014 93.0 Yes Yes
2014 92.2 895.1 Yes Yes Yes
2014 73.1 87.3 Yes
2014 98.2 98.4 Yes Yes
2014 69.7 84.8 Yes
2014 935 98.8 Yes Yes
2014 §9.1 99.2 Yes Yes
2014 97.0 94.4 Yes Yes
2014 77.6 77.3
2014 82.5 96.8 Yes Yes
2014 86.0 Yes Yes
2014 54.9 96.2 Yes Yes
2014 92.4 92.8 Yes Yes
2014 52.8 94.1 Yes Yes
2014 98.6 99.3 Yes Yes
2014 81.2 Yes Yes
2014 80.6 96.1 Yes Yes
2014 54.2 97.7 Yes Yes
2014 87.3 91.7 Yes Yes
2014 76.1 88.5
2014 54.5 98.5 Yes Yes
2014 76.9 80.6
2014 75.9 71.0
2014 94.5 Yes Yes
2014 82.6 95.1 Yes
2014 70.6 20.0
2014 97.6 98.7 Yes Yes Yes
2014 95.7 98.1 Yes Yes
2014 95.8 897.7 Yes Yes
2014 90.7 98.8 Yes Yes Yes
2014 84.8 52.0 Yes Yes
2014 92.1 98.0 Yes
2014 91.5 96.2 Yes Yes
2014 95.9 85.5 Yes Yes
2014 B2.3 88.4 Yes
2014 91.6 85,1 Yes Yes
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2015 97.1 96.5 Yes Yes Yes
2015 91.7 91.4 Yes Yes
2015 93.7 59.8 Yes Yes Yes
2015 99.3 59.1 Yes Yes
2015 91.6 53.7 Yes Yes Yes
2015 95.9 99.0 Yes Yes Yes
2015 91.8 95.5 Yes Yes
2015 95.1 95.8 Yes
2015 85.1 847 Yes Yes
2015 811 8.4 Yes Yes Yes
2015 86.7 94.0 Yes Yes Yes
2015 88.6 87.1 Yes Yes
2015 97.0 99.3 Yes Yes
2015 98.5 99.3 Yes Yes
2015 96.0 98.3 Yes Yes
2015 97.5 97.8 Yes Yes
2015 93.8 98.5 Yes
2015 94.4 98.0 Yes Yes
2015 52.6 97.7 Yes
2015 85.8 93.0 Yes Yes
2015 96.7
2015 86.4 91.2 Yes
2015 96.6 599.8 Yes Yes Yes
2015 85.4 53.0 Yes
2015 82.3 89.2
2015 88.8 897.2 Yes
2015 87.6 Yes Yes
2015 91.2 86.1 Yes Yes Yes
2015 92.5 97.8 Yes Yes Yes
2015 898.2 Yes Yes
2015 79.1 873 Yes
2015 80.9 85.8 Yes
2015 94.5 96.3 Yes Yes
2015 91.2 94.6 Yes Yes
2015 78.9 8B.5 Yes Yes
2015 85.0 96.9 Yes Yes
2015 BB.0 94.0 Yes Yas Yes
2015 93.2 89.8 Yes
2015 95.2 97.3 Yes Yes Yes
2015 91.2 85.8 Yes
2015 58.1 98.2 Yes Yes
2015 95.1 96.2 Yes Yes Yes
2015 82.2 83.4 Yes
2015 81.2 592.8 Yes Yes
2015 86.8 51.8 Yes
2015 97.4 52.5 Yes Yes
2015 88.0 80.7 Yes Yes
2015 03.1 §2.4 Yes Yes
2015 90.6 97.0 Yes Yes Yes
2015 95.2 58.0 Yes Yes
2015 88.9 98.2 Yes Yes
2015 55.3 94.7 Yes Yes
2015 88.7 86.5 Yes
2015 29.0 97.8 Yes Yes
2015 93.0 Yes




2015 88.2 98.5 Yes Yes
2015 82.5 89.2 Yes Yes
2015 92.1 90.2 Yes Yes Yes
2015 85.2 96.5 Yes Yes
2015 94.0 100.0 Yes Yes
2015 94.6 92.6 Yes Yes
2015 85.4 93.5 Yes Yes
2015 98.6 Yes Yes
2015 96.6 Yes Yes
2015 90.4 96.3 Yas
2015 92.4 97.6 Yes Yes Yes
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2016 85.6 91.2 Yes Yes
2016 92.6 85.2 Yes Yes
2016 94.6 97.2 Yes Yes
2016 87.7 92.5 Yes Yes Yes
2016 95.1 08.3 Yes Yes
2016 90.4 93.8 Yes Yes Yes
2016 69.4 82.7
2016 329.9 95.3 Yes
2016 53.4 95.3 Yes Yes
2016 916 86.5 Yes Yes
2016 96.8 97.8 Yes Yes Yes
2016 50.1 94,2 Yes
2016 28.2 91.8 Yes
2016 85.2 90.3 Yes
2016 94.2 99.4 Yes Yes
2016 75.8 82.3
2016 90.6 94.8 Yas Yes
2016 91.3 97.0 Yes Yes
2016 97.1 100.0 Yes Yes
2016 98.3 100.0 Yes Yes Yes
2016 86.2 85.8 Yes
2016 92.6 98.3 Yes Yes Yes
2016 97.3 97.8 Yes Yes
2016 73.4 86.0
2016 86.9 93.6 Yes
2016 93.0 91.3 Yes
2016 91.3 95.1 Yes Yes
2016 92.7 98.8 Yes Yes
2016 91.3 eg.7 Yes Yes Yes
2016 919 98.0 Yes
2016 80.0 941 Yes Yes
2016 94.1 98.9 Yes
2016 94.2 08.3 Yes Yes
2016 100.0 Yes Yes
2016 822 86.8
2016 91.2 87.3 Yes
2016 87.8 91.1 Yes
2016 91.9 96.7 Yes Yes
2016 96.8 59.0 Yes Yes
2016 96.1 97.3 Yes Yes
2016 84.1 93.4 Yes
2016 99.4 99.3 Yes Yes




2016 95.6 94.3 Yes Yes

2016 93.3 93.3 Yes Yes

2016 94.6 Yes Yes

2016 833 89.3 Yes

2016 84.2 95 8 Yes

2016 94.9 98.9 Yes Yes

2016 91.1 89.3 Yes

2016 96.3 99.0 Yes Yes

2016 89.6 98.7 Yes

2016 75.3 86.8

2016 85.6 92.3 Yes Yes

2016 90.7 94.0 Yes Yes Yes
2016 87.8 89.6 Yes Yes
2016 96.3 96.9 Yes Yes

2016 99.6 59.7 Yes Yes

2016 96.0 Yes

2016 93.0 Yes Yes




